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(Vxe]0,4o[); Fix)=ceR :o4
c=0 & F)=0 :olas
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3 CEMENT
COACHING
sC

1=0,0[ 5 10, +00[ cladll e S e Axi A o )

el o =ak
Vxel0,+o[ ; @(x) =ceR G
Dle duanicy 5 oq e dal el 5 —1 51 Oiasilly x asas

- -
= @(—1) = 24rctan(—1) = 2 (T) -

T T
¢; = p(1) = 2Arctan(1) = 2 (Z) =

Vx>0 .
’ R i
o) =1{ 2, 7
— ; Vx <0
s ) .
(Vx>0) ; <p(X)=§ o Aagiill a3 e lngy L

1
s (Vi >0) Arctan( ) + Arctan(x) = =

1 T
(Vx> 0) ; Arctan (;) == Arctan(x) |(xx)

@n

Dl 138 e BaY) b () 5 (%) Ol 03 S

(Vx>0) ; F(x)=0
t O
" Arctan(t)
Arctan(x) + Arctan . dt =0
T Arctan(t)
(=4 (E) Inx — 1 f =0
X
* Arctan(t) T
= f ——dt =—-Inx
1 t 2
X
2 .I'xArctan(t)
S | — =Ilnx
T J1 t

V=
. d\I;XCEL
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